saednews.com

460E

&

L A A A P B R

&

aaialy

" N\ g oo =ilel CE oo 3l sl LS (e
M (23] o alo!

AP ST
I L e e UL

325 Byl i el

A3 Yiv 1 o8 il Ciue

e —
S g 5ylecd g alaws ( Jleol olae oylaie
il U | Bylesiigl | e olaai Sl olga Giua,
Y. | v (oSl s g g (15 |
5 i - dzoole Sluislow i gl2 leis b} F il (peg 0 ”
(5 7 gepalS (sloaSnd 1380 55 i spia 59801 (2100
A £\ Y- o e o g Jypol | ¥
- 4 - h'—ﬁ.‘lL‘lJ be Jg_n.sﬂ} |_7J.a.a...|.n Lfa.cwu g )S AL gesen .
(Jele sle gt | £ e og Loty

ale i 8yl ygel ol

wlimnand jlome ol podle 3 soldiwl

iy s By B 8 Cpnilici U g Ml 0l gl s (o gm0 i B g A PN raled (5l 0r3 3T (SN 32 1 L i i 5IT) g5 0 0 o SN g 5 il

&

| o o

A

A

&

VVAR R R R R e

&

X

&

i~



https://saednews.com/

saednews.com

¥ dzedo 460F OTYF a5) (IT) wleMbl o508  waigpo dsgomm0

el 03] duadsr 33 Lok jguiz pas @ jaods Jud Jguzr ol yuaie jo Léel 9 Slaskdun 750 pae ool ;5 cadbgls

1y 095 Jiiuo & jlods sk o JolS  BET L oo -1 B P — o
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 i 580 (59, p 0t

gl ki g pogos b

PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence,
Then mark the answer on your answer sheet.

1- Tt had not raincd on the prairic for several months. Becausc of the drought, the climate
had beeome very -————--—--- ‘
1) unstcady 2) rigid 3) intcnse 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residenee—weed grew -------—-- in the front yard.
1) unchecked 2) unjustilicd 3) complicated 4) scanty

3-  Can vou please ———---—--— this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identily 3) postulate 4) recount

4-  Gerry's dissatisfaction with our work was --—---——- in his expression, although he never
criticized us directly.
') vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ~-----—---- are finite; one day they will run out, so think now
about what yvou can do to consume less.
1) appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou ----—-——-—- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—---- , lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superficial 4) swift

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
[y mutual 2) essential 3) dogmatic 4) equivocal

9-  Tlundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——--—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical --------— which have puzzled

man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), ar (4} best fifs cach
space. Then mark the answer an your answer sheet.,

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by (Galileo  was well
known in most European academic circles.

I’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) -----=---- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was laler 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the same

13- 1) Altheugh 2) As though 3) Because 4) Yet

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the best

choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

While it is certainly useful to smudy the successful ways people solve problems, the old
adage that we learn from our mistakes suggests that studying failures might be even more
fruitful. This is the concept behind negative patterns. or antipatterns. Whereas patterns
desceribe a recurring problem and its solution, antipaticrns describe solutions that have
mor¢ negative conscquences than positive bencelits. In ellect. they describe dyvslunctional
approaches Lo problem-solving, [ollowed by the changes that should be made (o overcome
this dyslungtion, That is, antipatierns describe situations that we oflen find ourselves in,
situations that arc not healthy [or the individual or the organization. We obviously do not
scl oul 1o create these dyslunctional situations: they oceur because ol negleet, malice,
ignorance, and assorted other reasons. Oncee in these predicaments, how do we get out and
stay out? This is the rationale for antipatterns.

16- Which of the following can be inferred from the passage?
1) Antipatterns are inherently trivial.
2) Antipatterns describe undesirable solutions.
3) Antipatterns are typically applied when patterns cannot be used.
4) Antipatterns are used for predicting the negative consequences of patterns.
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17-

19-

20-

Which of the following has been mentioned as a possible cause for dysfunctional sitnations?

1) Fatigue 2) [natiention

3) Lack of Innovation 4) Budget Consiraints

Which of the following is more appropriate as a title for this passage?

1) Antipatterns: Why Are They Useful?

2) Antipatterns: Comparative Analysis

3) Antipatterns: How Are They Applied?

4) Antipatterns: Capabilities and Limitations

Which of the following words is closer in meaning to “rationale™?

1) Constitution 2) Reasonable 3) Motivation 43 Useful

What is the relationship between antipatterns and problem solving?

1) Antipatterns describe successtul solutions to common problems.

2) Antipatterns provide normal means for resolving abnormal problem solving.

3) Antipatterns provide solutions [or dysfunctional problem-solving approaches.

4) Antipattcrns describe dyslunctional solutions where problem solving has not been
applied.

PASSAGE 2:

'The role of information technology (I'1) in our society has increased dramatically and
most ol our modern services are increasingly reliant on 1T, Also, the provision ol a
modern service may include the involvement of several IT providers, global networks and
a mix of ['l’ devices and telecommunication service providers (i.e. the service is delivered
o customers through their own IT devices and their own iclecommunication scrvice
providers). This involvement of customers' I'l" in the provision of services, in addition to
the blending of personal and sometimes prolessional IT equipment, 1s characlerized as the
consumerization era. When there is a problem in such a service (IT-based service
degradation (I I'SD)}), the problem may not be due to the company that sold the service to
the customer, but it may be the fault of any of the above associaled pariners, Morcover, it
is ditticult for the customers to pinpoint the source of the problem immediatelv. They do
not know if the reason originates in their own IT devices, or their telecommunication
provider, or global networks, or il the reason relates 1o the company who sold the service
and their I'l’ providers.

The complex nature of 1T in services led us to pose the lollowing rescarch question:
"what explains customers' decisions to continue using or to quit their IT-based service
following TTSD?" We identify two disciplines that have examined related questions:
namely, information systems (IS) and service research (SR). IS literature has examined
how online service quality affects a user's hehavior and how I'l" failures may aftect online
services. Furthermore, studics on pervasive compuling and advanced IS roles today
provide insights of the way that users perceive technology (e.g. Yoo et al., 2010).
Although these works are very insightful for our rescarch objective, they do not explain
the behavior of IT-based services following ITSD. First, these studies had been highly
influenced by service quality theories, which do not take into account the characteristics of
the "consumerization” cra. For example, Sun ct al. (2012) crilicize existing IS scrvice
quality theories because they consider the consumer as external to the service delivery,
although 1S rescarchers should start by regarding consumers as endogenous to the 1T
service delivery. Second, these models only study online services, which means that they
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cannot explain ['1'-based services where 11 is not directly visible to the customer (e.g. back
office sysiems).

The passage is most probahly an excerpt from -——-—-——--—- ;

1) an encyclopedia 2y an IT booklet

3) a technical manual 4) a research paper

All of the following arc mentioned in paragraph 1 as the possible reasons bchind a
problem in an 1'T-based service except ------------- G

1) IT cngincers 2) customers’ IT

3) professional I'l equipment 4) the telecommunication provider

According to paragraph 2, the behavior of 1T-hased scrvices following [TSID is not

discussed --------—---——- ;

1) in IT books 2) in SR litcrature

3) by [l providers 4) in studies on advanced 1S roles

The word “which” in paragraph 2 refers to -—------—---- "

1) these models

2) online services

3) not explaining I'T-bascd scrvices

4) these models only studying online services

With which of the tollowing would the author of this passage most probably agrec?

1) IS researchers should start by considering consumers as endogenous to the 1T
scrvice delivery.

2) Service quality theories put too much emphasis on the “consumerization era”.

3) The consumer should be regarded as external to the service delivery.

4) IS studies should mostly focus on serviee quality theorics.

PASSAGE 3:

I's time for IT managers who believe Wi-I7i 6 is a far-away [uture for their enferprises Lo

With several mileposts passed of late, it now appears the road to enterprise deployment
ol the next-gencration wireless lechnology has shorlened considerably, Markers include
the launch of Wi-Fi 6 product certification, the expansion of use bevond public sports
venues, and support on new mobile devices lrom Apple, Google, and Samsung.

So, what do TT managers need to know to keep current in evaluating Wi-Fi 6 for
possible use in their enterprises? While the spotlight has been on Wi-1'1 6 at sports venues,
the latest sign ol progress with the wireless lechnology has been its use bevond ihis
vertical. In mid-September, Wi-1'l equipment vendor Aruba Networks claimed its access
points are being used widely among cducational institutions such as Scneea College and
entire school districts. Healthcare boasts a growing number of implementations, as well.

Fxpanded use beyond sports venues 1o wide usc in other verticals, such as cducation
and healthcare, demonstrates acceptance and progress across industries, which should fuel
even broader deployments of the wireless networking technology.

Wi-Fi 6 (802.1 lax} is just what the doctor ordered lor facilitics that are relying on older
versions of the tech to support super-high device density. congestion, higher throughput,
and more. To dale, carly implementers Lucas Oil Stadium - home of the Indianapolis
Colts, West Texas A&M University, and pro soccer teams Houston Dynamo and Dash
have invested in the latest Wi-111 technology. All are customers of Extreme Networks.
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They're using Wi-Fi 6 to meet the needs of their fans who are regularly jammed into
stadium venues for 3-6 hours, The resulting heavy use ol Wi-Ti by these fans during
games and concerts leads to continually higher data rates and peaks.

26- What can be inferred from the first sentence of the passage?
1) [n a far-away future, Wi-1'i 6 will be used by all enterprises.
2) [T managers do not exactly know the requircments ol Wi-Fi 6.
3) [t 1s difficult for I'l' managers to correctly predict the launch time of Wi-Fi 6.
4) Wi-T'i 6 should be used in some enterprises sooner than what their 1T managers
except.
27-  Which of the following can be inferred from paragraph 2 and 3?
1) Apple was the tirst mobile phone company that offered Wi-Fi 6 support.
2) Public sports venues started using Wi-I'i 6 sooner than many enterprises.
3) The launch of Wi-Fi 6 is dependent on the expansion ol public sports.
4) Enterprise deplovment of Wi-Fi 6 has been postponed several times.
28- According to paragraph 3, healtheare -—--—--—--——-- 2
1) criticizes the use of Wi-Fi 6 at sports venues
2) began using Wi-1'i 6 in mid-September
3) 18 increasing its usc ol Wi-Fi 6
4y is free in school districts
29-  According to paragraph 5, Lucas Qil Stadium --—-——-——-- .
1) is a customer of Extreme Networlks
2} is the most sophisticated stadium in the US
3) cooperates with West Texas A&M University
4) should consider spending money on the latest Wi-I'i technology
30- Why is Wi-Fi 6 espccially suitable for stadium venunes?
1) Fans stay in stadiums for days.
2) They have heavy use of Wi-T'i,
3) A few access points of Wi-Fi 6 can cover large stadiums.
4y (Game fans need a faster internet connection compared to other people.
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